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Q.No.2  Write Six short answers to the following 2x6= 12 H i lovrgetdite 240
Solve by factorization 3y’ -~y (y~5) Iy -y (y-5) éd’ﬁ‘i.ﬁ;}g 1
Write equation in standsrd form ”i;i-gsl #-5— 1 ZePiSeit | 2
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' G AN(BUC) 7 C={1,4,8) » B={2,4,6,8) , A={1,2,3,4,5,6) f1 3
If A={1,2,3,4,5,6) ,B={2,4,6,8) and c={1,4'.s} thenfind AN (BUC)
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X-Y=XNY lﬁqu:{1.3,5..........‘....17} o X={1,3,7,9,15,18,20} U={1,2,3,......_ ,20) S
If U={1.2,3, ................ ,20},X*{I,S,T,Q,IS,IS.ZO} and Y={1.3,5. ............. .17} then show that X-Y=XnYy

Find the standard deviation ‘S’ of set of mumbers 9,3,8,8,9,8,9,18 9,3,8,8,9,8,9,18 ﬁ'f#‘s‘qy‘;g,gv
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Draw two circles with radii 2.5 cm and 3 em. If their centres are 6.5 cmupm.ﬁlmdmwtwodimctcomnwumngcnu
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Prove that two chords of a circle which are equidistant from the centre are congruent

or/{

Prove that any two angles in the same segment of a circlo are equal u:l‘l.xz.l.cf?guxg IR AT B L2 13 1 i <l
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: . modian s (D) contraltendency w§s$7/ (C) dispersion /51 (B) aversge s (A
I ol = i it = s | (10)
' ; C30° () 150° (©  125° (B)  135° (W)
-H;mi- ﬁ = e ' ' i?élﬁfi + ITSli;;  R— an
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ae synthetic division G307 s
Unds 3i4 sl 2P+5:3P+4 B Sigleiad B |7
the valno of P, ifthe ratios 2P+ 5:3P+4 and 3:4 are oqual '
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NOTE: Attempt THREE questions in all But question No. 9 is compulsory
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Solve the equation using quadratic formmls 42— 14 = 3x 4 -1423x S e JE1liridond it

Solve the simultineous equations x™+ 2y’ =22 , 5% + ¥ 2 29 X+29'=22 5x'+y =29 éd’fuﬁhhﬁﬂ
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wx = B fy BR XN Lo 3l S L

y+2 x=ly  x-2z

Using theorem of componendo~dividendo , Find the vatue %4-%3 ifx-ﬁ'-';

. 5 . 3x+3 ' 3Ix+3
Resolve into partial fraction DD TRy ﬁ.—gk[’{,t/d:z
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X-Y=XNY S ed?¥Yn{1,3,5, 17} s X={1,3,7,9,15,18,20} U={1,2,3, o, 20} i
If U:{l.2,3,.......‘........20}.XS{I.3.7.9.13.18,ZB}Imd-Y-II,B.S..............;17} then showthat X-Y=XNY'

Find the standard deviation 'S for the data 9,3,8,8,9,8,9,18 9,3,8,8,9,8,9,18 g » ‘S’ Ui i
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A tree casts a 40 meter shadow when the angle of elavation in 25° . Find the height of ths troe,

un”3 (4,76 JAUWL},H#' BC,AB w&!fgﬂdbdlgf ABCaB UL AL
Escribe a circle oppotite to vertex A to a triengle ABC with sides |AB| = 6 cm, |BC| =4 cm., ICAl=3 em
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Prove that: One and only one circle can pass through three non-collinear points, '
or/l
V. p }-# f@ﬁ.&ﬁé)/&d:}b&(_}bgﬂ' S5 { e
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